4A FISA
Writing concisely

1. Use simple words and phrases 

Replace the underlined words with one word.
e.g. : There are serious problems on account of the fact that because the performance is erratic.

1. This has made it possible for us to do….

2. This allows us to reduce the complexity.

3. This was done by means of the tracking feature.

4. We adjusted the parameters in order to avoid breakages.
5. This one was faster with respect to the other one.

6. We conducted a logistic regression as well as a student t-test.

7. Sample A was found to be signficantly more efficient than Sample B.
2. Avoid redundancy: deleting words or phrases
Each of the sentences below contains word(s) or phrases that can be deleted without requiring any other changes. Delete such words and phrases.
e.g.: Meetings will be held twice a year in June and December.
1. As we have already noted in Section 4.2.1, the presence of x can influence y.

2. However, we have to make use of other techniques.

3. In comparative terms, there is no real difference between x and y.

4. Also, we present simulation results that will provide a two-fold contribution: (i) confirm the effectiveness of ..., and (ii) highlight the importance of …
5. The solution adopted was to carry out a test of all the software on the market.
3. Avoid nominalisation
Rewrite these sentences using verbs, not nouns
e.g. : Table 1 shows a comparison between X and Y = Table 1 compares X and Y.
1. The user has the ability to resend the email again.
2. This section contains an explanation of the various parameters.
3. An increase in X of 30% was achieved.
4. This device is an interface which allows the transfer of x to y to be performed.
5. The installation of the system is done automatically.
6.   The management of these systems can be done by…
